
MATHS

BOOKS - FULL MARKS MATHS (TAMIL

ENGLISH)

SAMPLE PAPER 19 (UNSOLVED)

Part I

1.  represents a functions

which is

A. linear

f(x) = (x + 1)
3

− (x − 1)
3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wbcJYgsYjhZc


B. cubic

C. reciprocal

D. quadratic

Answer:

Watch Video Solution

2. Given 

then  is

A. 3

B. 5

C. 8

F1 = 1, F2 = 3 and Fn = Fn− 1 + Fn− 2

F5

https://dl.doubtnut.com/l/_wbcJYgsYjhZc
https://dl.doubtnut.com/l/_CWDHtpltScPt


D. 11

Answer:

Watch Video Solution

3. If 6 times of 6th term of an A.P. is equal to 7 times

term, then the 13th term of the A.P. is

A. 0

B. 6

C. 7

D. 13

https://dl.doubtnut.com/l/_CWDHtpltScPt
https://dl.doubtnut.com/l/_PCksiwizTo7q


Answer:

Watch Video Solution

4. If (x-6) is the HCF of 

then the value of k is.

A. 3

B. 5

C. 6

D. 8

Answer:

Watch Video Solution

x2 − 2x − 24 and x2 − kx − 6

https://dl.doubtnut.com/l/_PCksiwizTo7q
https://dl.doubtnut.com/l/_1ktSLeNnGtrH


5. The solution of  is equal to

A. 

B. 2

C. 

D. None of these

Answer:

Watch Video Solution

(2x − 1)2 = 9

−1

−1, 2

https://dl.doubtnut.com/l/_1ktSLeNnGtrH
https://dl.doubtnut.com/l/_QFTFpKlw6x11


6. In a , Adis the bisector of . If AB=8 cm,

BD=6 cm and DC=3 cm. The length of the side AC is

A. 6 cm

B. 4 cm

C. 3 cm

D. 8 cm

Answer:

Watch Video Solution

ΔABC ∠BAC

https://dl.doubtnut.com/l/_MJ1DCq4huSaD


7. The equatin of a line passing through the origin and

perpendicular to the line  is

A. 7x-3y+4=0

B. 3x-7y+4=0

C. 3x+7y=0

D. 7x-3y=0

Answer:

Watch Video Solution

7x − 3y + 4 = 0

https://dl.doubtnut.com/l/_OdSEgJtHBNWU


8. The electric pole subtends an angle of  at a point

on the same level as its foot. At a second point 'b'

metres above the first, the depression of the foot of

the tower is . The height of the tower (in towers) is

equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

30∘

60∘

√3b

b

3

b

2

b

√3

https://dl.doubtnut.com/l/_MCbPMf1Lk3Ex


9. If the radius of the base of a right circular cylinder is

halved keeping the same height, then the ratio of the

volume of the cylinder thus obtained to the volume of

original cylinder is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1: 2

1: 4

1: 6

1: 8

https://dl.doubtnut.com/l/_pso0m2doj76B
https://dl.doubtnut.com/l/_psTkP52pDaiv


10. Kamalam went to play a lucky draw contest. 135

tickets of the lucky draw were sold. If the probability of

Kamalam winning is , then the number of tickets

bought by Kamalam is

A. 5

B. 10

C. 15

D. 20

Answer:

Watch Video Solution

1

9

https://dl.doubtnut.com/l/_psTkP52pDaiv


11. Standard deviation of first 11 nature number is ............

A. 10

B. 3.15

C. 3.33

D. 11

Answer:

Watch Video Solution

12. If  represents an identify function

then the value of a and b respectively are :

(a, 7)(, (2, b)

https://dl.doubtnut.com/l/_6ACPXrFgA851
https://dl.doubtnut.com/l/_KWLOGNE8Rvdw


A. (6,7)

B. (-6,-7)

C. (7,6)

D. (7,7)

Answer:

Watch Video Solution

13. The square root of  is ...........

A. 

B. 

(x + 12)2 − 48x

|(x − 12)|2

|(x + 12)|2

https://dl.doubtnut.com/l/_KWLOGNE8Rvdw
https://dl.doubtnut.com/l/_0PG3vVDY8FtT


C. 

D. 

Answer:

Watch Video Solution

∣∣(12 − x)2∣∣

|x − 12|

14. The angle of elevation of the top of a hill at a point

on the ground 130 m away from the foot of the tower

is  . Then the height of the tower ( in meter ) is .........

A. 

B. 

C. 

45∘

130√3

130m

130

√2

https://dl.doubtnut.com/l/_0PG3vVDY8FtT
https://dl.doubtnut.com/l/_VSWp0PaPDIOO


Part Ii

D. 

Answer:

Watch Video Solution

m
130

√3

1. If A={-2,-1,0,1,2} and  is an onto function

defined by  then find B .

Watch Video Solution

f :A → B

f(x) = x2 + x + 1

https://dl.doubtnut.com/l/_VSWp0PaPDIOO
https://dl.doubtnut.com/l/_6h5frbxPNL5l


2. Find the least number that is divisible by the first

ten natural numbers.

Watch Video Solution

3. Find the sum of the following series 

Watch Video Solution

1 + 3 + 5 + … + 71

4. Solve 

Watch Video Solution

2m2 + 19m + 30 = 0

https://dl.doubtnut.com/l/_ll11y3Y289se
https://dl.doubtnut.com/l/_aKiZNLixVwwy
https://dl.doubtnut.com/l/_0h03xRwKVhVS


5. Determine the nature of the roots for the following

quadratic equations 

Watch Video Solution

9a2b2x2 − 24abcdx + 16c2d2 = 0, a ≠ 0, b ≠ 0

6. Given 

and If , find p and q.

Watch Video Solution

A = [
p 0

0 2
], B = [

0 q

1 0
], C = [

2 −2

2 2
]

BA = C 2

7. A tangent ST to a circle touches it at B. AB is a chord

such that , Find , where O is the∠ABT = 65∘ ∠AOB

https://dl.doubtnut.com/l/_LLEPirk80Y3k
https://dl.doubtnut.com/l/_XGozKtKC8QZ4
https://dl.doubtnut.com/l/_hgCRKLT0iR7J


centre of the circle.

Watch Video Solution

8. Find the equation of a line passing thorugh

 and perpendicular to the line joining the

point .

Watch Video Solution

(6, − 2)

(6, 7) and (2, − 3)

9. Prove that following identities 

Watch Video Solution

sec6 θ = tan6 θ + 3 tan2 θ sec2 θ + 1

https://dl.doubtnut.com/l/_hgCRKLT0iR7J
https://dl.doubtnut.com/l/_qxCH5J29BwH2
https://dl.doubtnut.com/l/_J9dlssPBoSfj


10. The radius of a conical tent is 7 m and the height is

24 m . Calculate the length of the canvas used to make

the tent if the width of the rectangular canvas is 4m ?

Watch Video Solution

11. The standard deviation and mean of a data are 6.5

and 12.5 respectively. Find the coefficient of variation.

Watch Video Solution

12. A bag contains 5 red balls and some blue balls. If

the probability of drawing a blue ball double that of a

https://dl.doubtnut.com/l/_nE64RFleHWMZ
https://dl.doubtnut.com/l/_GIQLvOsJTCmC
https://dl.doubtnut.com/l/_VJOnU3kKQm2Y


Part Iii

red ball determine the number of blue balls in the bag.

Watch Video Solution

13. How many multiples of 4 lies between 10 and 250 ?

Watch Video Solution

14. Find the value of k for which the quadratic equation

 has equal roots

Watch Video Solution

(k + 4)x2 + (k + 1)k + 1 = 0

https://dl.doubtnut.com/l/_VJOnU3kKQm2Y
https://dl.doubtnut.com/l/_xh552sEdcQsh
https://dl.doubtnut.com/l/_ug5sU7jW1BMc


1. Find the value of k, such that fog=gof 

Watch Video Solution

f(x) = 3x + 2, g(x) = 6x − k

2. A man repays a loan of ₹65,000 by paying ₹400 in

the first month and then inceasing the payment by

₹300 every month. How long will it take for him to

clear the loan?

Watch Video Solution

https://dl.doubtnut.com/l/_y9EIUmiTWbQO
https://dl.doubtnut.com/l/_J3XdKSgGpAR1


3. Find the sum all natural numbers between 300 and

600 which are divisible by 7 .

Watch Video Solution

4. In an interschool atheletic meet , with 24 individual

events , securing a total of 56 points , a first place

secures 5 points , a second place secures 3 points , and

a third place secures 1 point. Having a many third place

finishers as first and second place finishers , find how

many athletes finished in each place .

Watch Video Solution

https://dl.doubtnut.com/l/_QKHCYgn4WZrh
https://dl.doubtnut.com/l/_ndD8VkZk7soP
https://dl.doubtnut.com/l/_LcAKPug8QyD7


5. Find the square root of the following 

Watch Video Solution

(2x2 + x + 1)( x2 + 4x + 2)( x2 + x + 2)
17
6

3

2
4
3

11

3

6. Let  show

that 

Watch Video Solution

A = [
1 2

1 3
], B = [

4 0

1 5
], C = [

2 0

1 2
]

(A − B)C = AC − BC

7. Two vertical poles of heights 6 m and 3 m are

erected above a horizontal ground AC. Find the value

https://dl.doubtnut.com/l/_LcAKPug8QyD7
https://dl.doubtnut.com/l/_cvA1M5CJ3738
https://dl.doubtnut.com/l/_q94WsiqezAZ5


of y. 

Watch Video Solution

8. Let P(11, 7), Q(13.9, 4) an dR(9.5, 4) be the mid points

of the sides AB, BC and AC respectively of .

Find the coordinates of the vertices A, B, and C. Hence

△ ABC

https://dl.doubtnut.com/l/_q94WsiqezAZ5
https://dl.doubtnut.com/l/_i8XbjWQKqOBV


find the area of  and compare this with area

of .

Watch Video Solution

△ ABC

△ PQR

9. From the top of the tower 60 m high the angles of

depression of the top and bottom of a vertical lamp

post are observed to be  respectively.

Find the height of the lamp post.

Watch Video Solution

38∘ and 60∘

(tan 38∘ = 0.7813, √3 = 1.732)

https://dl.doubtnut.com/l/_i8XbjWQKqOBV
https://dl.doubtnut.com/l/_8jdLGzbKk1q9


10. A funnel consists of a frustum of a cone attached to

a cylinderical portion 12 cm long attached at the

bottom . If the total height be 20 cm , diameter of the

cylinderical portion be 12 cm and the diameter of the

top of the funnel be 24 cm . Find the outer surface

area of the funne.

Watch Video Solution

11. The measurements of the diameters (in cm) of the

plates prepared in a factory are given below. Find its

https://dl.doubtnut.com/l/_CFucW28PX2Vw
https://dl.doubtnut.com/l/_dSAdKjbzIPoz


standard deviation. 

Watch Video Solution

12. The probability that a new car will get an award for

its design is 0.25 , the probability that it will get an

award for efficient use of fuel is 0.35 and the

probability that it will get both the award is 0.15. Find

the probability that (i) it will get atleast one of the two

awards (ii) it will get only one of the awards

Watch Video Solution

https://dl.doubtnut.com/l/_dSAdKjbzIPoz
https://dl.doubtnut.com/l/_jLninwzPx4ny


Part Iv

13. Find the equation of the straight lines each passing

through the point ( 6,-2) and whose sum of the

intercepts is 5 .

Watch Video Solution

14. Is it possible to design a rectangular park of

perimeter 320m and area ? If so find its length

and breadth.

Watch Video Solution

4800m2

https://dl.doubtnut.com/l/_nxoGRmJZsErk
https://dl.doubtnut.com/l/_8unppXZ1gcTs
https://dl.doubtnut.com/l/_jugCjnCYbf33


1. Draw the graph of  and hence

solve .

Watch Video Solution

y = (x − 1)(x + 3)

x2 − x − 6 = 0

2. Draw the graph of  and hence solve 

Watch Video Solution

y = x2

x2 − 4x − 5 = 0

https://dl.doubtnut.com/l/_jugCjnCYbf33
https://dl.doubtnut.com/l/_5ogEGo8rmP5l

